[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05
L0F

ettic

Ratio

1.2+

-

ot-.

0.90
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mKkFit_baseline

Eroend — DQM_mkFit_baselinesiter
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

0.8

N C

) F : : : : :

> 0.7 FRRREREEEEEEEEEE FRRREERETEEEEEE PR

(2] _ . . . .

z o : : : : :

& 0.6F------ CERREERD REPEES Beeeenee RREEPLE :

c o . . . : -

<] o : : : : !

o ... [ e [,

g 05p : ; : ;

o F : : : : :
O R e
o S s
0 ]
O.dF oo ++ """ e * """" o

b io, f gyt

o +OF - [ -

T E : ] i

g 1.1:— """"""" <FH “:'

SR AL
E : ] 1 ! .
%35 —=0 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

................................

-

. 11 1
o +10F +T: .
= E HES ¢4
LI B SR FERR B S 8 B ;
o E +1 |47 :
i = = B -+ -4 R o o T e R
... T 2
0.95F-tf--J:-- T I [ 2 U
4 [+ T

5 =5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


